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5-4. EZ%17|1.0 Fan 2IHE{ M &

1=

S

2~4=

2L

6=

RED|

/=

&I

8=

2|

W 330 600 261 330 600 21210
W 2711 4773 M0 2683 5832 18109
w/min 2000 4000 2000 2500 5000 15500
mmAg 550 550 400 400 550
=2 % 718 753 620 609 770
% 94.0 94.2 94.0 94.0 94.2
% 675 70.0 58.3 572 725
v 3300 3300 3300 3300 3300
=y 5] 5] 5] 5] 5]
w/min 118823 130526 127907 133943 160085 671284
% 59.4 326 64.0 536 320
s % 400 300 70.0 450  20~30
ORI mAg 1500 <1500 2500 2500 2500
mmAq  -4185  -5854  -4590  -4007  -5813
EZor mmAg 10,0 200 10,0 200 6.0
oMot mmAg 4285 6054 4690 4207 5873
o ZotH|g % 779 110- 17.3 1052 1068
mmAg 2685 4354 2090 1507 3313
SRRy 627 719 446 358 57.0
W 1950 4253 2187 2015 4452 14857
% 591 70.0 838 611 742
ox Sttag % 427 304 448 457 345
X M2 I Ol M|k H T AR
X ST HES(%) | 3ol
X 2H™EU(mmAQ) : Fan EEEY - Fan SQH 2 HHEY
X SH EQMHIS(%) | (SHEL + HHE) x 100
X Fan SR SEHERH(mmAQ) | 534 SHHE QA Fan 45TMNE HE
X Fan B9 7|E S5K12 g
X SQIRCH S Solrel(X) BRjera 9l DLIEIZ 9/ FICt Al 72 B X8
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30 40 20 60 70 80 a0 100 10 120
28, 31T+%)
[FANZ| 3% 4]

[ 5-3] 278 HEHO|| L2 AH|E= H| W

(1) &Z17]1.D Fan 8|%2 HI0] 2% 2] A%
70 A7 |E

2~4= 6= /= 8=

&I 220 22 220

M H 285 m’/min 1188.23 1305.26 127907 133943 1600.85 6,712.84
MS 2FERE '/min 1188.23 130526 127907 133943 160085 671284
Z2H|E % 100.0 100.0 100.0 100.0 100.0
MH 2 EQ mmAQ 4285 605.4 4690 4207 587.3
MS 2 EQ mmAg 160.0 170.0 260.0 270.0 256.0
4= SYHIE % 37.3 281 55.4 64.2 436
H=H|2 % 37.3 281 55.4 64.2 436
M HolE % 22.0 199 464 392 324
% 89.0 89.0 93.0 92.0 91.0
KW 482 951 1091 859 1585 496.8

XM B 2EEZH(m/min) = EYET AR
X MM 2 2USL(MmA)AIAR EX] = EESY - SYUHH MRS (KR
XN 2 SUHIZ (%) = {71 2 SUSU(AAR EQ) - 6 ™M 2HER} <100

0

H
X HAHIZ(%) = (714 & SHEA(AAY ZQ) + )8 ® 28

H
X 2512 (%) = {(GIRH AHIT= x I



5-4. EZ%17|1.0 Fan 2IHE{ M &

[E 5-4] &1R17|1.D Fan QIHE] AX|
O}t
dH|tH AH|F=
(KW)
8760 1285968
550 6054 1700 318 4253 281 951 3302 8760 2892552
E 400 4690 2600 484 2187 554 1091 1096 8760 960096
400 4207 2700 493 | 2015 642 859 156 8760 1012656
E 550 5873 2560 409 90 4452 436 1585 2867 8760 2511492
m - - - - - 14857 - 4968 9889 8760 8662764
ol
C}. 7ICHS 1}
AH|™MH AH|™MH x4opa Exta|27|7t 24I7IA
e U ool | e
oe/ 1 !
[IMWh/H] [%] [tCO2eq/H]
8,0062.76 66.56 1983.77 828.16 984.00 119 170.61
(1) ALk 7|E

(7h ML} 95 6(2/KWh)
C

(Lh At IHSARR S 3

(2) 2 Tt
=[E 5-4] 8%
=8662,764.0(kWh/=)
=8662.76(MWh/H) x 0.229(toe/MWh) = toe ZHAFA|Z
=1983.77[toe/H]

(3) HH|1H™ LS
= (MHEL-RWN/ ] /70 © A=A KWH/E]) x 100
= (8,662,764 Wh/=) /13014, 732(KWh/H)) x 100[%)]
= 66.56 [%]
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5-4. EZI711.D Fan 2HE| HE

22 (kWh/3) x M= HEL /W)
OkWn/H) x 95 6(2!/kWh)
= 828.16[“—'1'1*%/""]

(5) E£XHH| = 984.00[ =47+ ]

[E 5-5] EXH| &ML

= oo . = 7} 2t il
=2 (&) | mriy) | (umr) =

SN 34+ 3.3KV 26TKW 1 164.00 16400  3I=RSIFEEAT
e 34+ 3.3kV 330KW 2 190.00 38000  s=EEIIEEAT
34+ 3.3kV BOOKW 2 220.00 44000  SREIEEAT

- o# - 5 - 984.00 -

(6) EXH| 2|4~71Zk
= X8| (H2H]) + o17H 2o (el /i)
=084.00(E1212]) + 828 16(EH 2l /1)
=119[]

(7) 2UTIA KLz
= ELAKI Rt/ ) x (OlatotEts EARY/EIAZAI)
=1,082.85(C/H) x (44/12)(CO2eq/C)
=3,970.45[tC0O2eq/H]



